CMS, 13 TeV, A¢q; inclusive 3+jet, 600 < p7@* < 700 GeV

: E I I I ‘ I I I ‘ I I I ‘ I I I ‘ I I E

‘g)o 0-09 —  —¢— Data | =

3 e —+— Sherpa 3 (CSS o) | : ]

« 0.0 * —

S E —+ — Sherpa 3 (CSS 10) | I__:__'__,__:

JFooz i~ + — Sherpa 3 (CSS 23) A B N =

-+ Sherpa3(CSS37) . =

0.06 - —+1— Sherpas (CSS"*%)_————*' B e

- —+t - Sherpa3((SS45 E | | ]

005 — —+ - Sherpals ==3 | —

o | 25— 1 3

- hetpal - m

004 | E e o—- =

EEF - 3

0.03 3———: | —]

S — 2

= | | | | o | 3

1.1 E 1 | :____ | I | I | =

s F—{— I } E

£ 1.05 £ ] - | ] =

A 1 E E=l== I | E

) SR L =—— 11 T — 3

= 0.95 = === =

Y e R ey y — — ENa

0.85 S I R N s s [ [——] 3
170 172 174 176 178



